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.mycl
{font-size: 10px; color: red;}

.align_center {
text-align: center;

}

<p class=‘align_center’> L} & </p>
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{font-size: 10px; color: red;}

#style para {
text-align: center;

}

<p id=‘style_para’> L} & </p>
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color: blue; text-align: center;

}
style_div {
background-color: green

} <p> pEf L= IFEFA </p>
.style_div p {

color: white;
} <h1>
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<div class=‘style_div’>
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h1, h2, h3 {

font-family: sans-serif;

}
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#content * { background-color: blue; }
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transition-property: &4 _0|&;
transition-duration: .j;P— _ Azt

transition: & _0|& H3t=_AlzZh;
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img {
width: 30%;
transition-property: width;
transition-duration: 1s;

Img:hover {
width: 100%;

}
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